
M
ar
ch

20
23



March 2023

RODRUNNER REF NO: TC-B-1188 ADAPTABLE BMW

Lateral Arm

Weight: 0,737

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019- Rear Right
Upper Forward

33306878017

Length: 266,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

RODRUNNER REF NO: TC-B-1188 ADAPTABLE BMW

Lateral Arm

Weight: 0,737

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2018- Rear Right
Upper Forward

33306878017

Length: 266,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

www.rodrunnerparts.com 1



March 2023

RODRUNNER REF NO: TC-B-1189 ADAPTABLE BMW

Lateral Arm

Weight: 0,737

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019- Rear Left
Upper Forward

33306878018

Length: 266,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

RODRUNNER REF NO: TC-B-1189 ADAPTABLE BMW

Lateral Arm

Weight: 0,737

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2018- Rear Left
Upper Forward

33306878018

Length: 266,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS201
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

BC-BM-BS202
Lateral Arm

Bushing
Rear Upper

Forward
33306878017*, 33306878018*,
33306871006*, 33306871005*

www.rodrunnerparts.com 2



March 2023

RODRUNNER REF NO: TC-B-1208 ADAPTABLE BMW

Lateral Arm

Weight: 0,943

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019- Rear Right
Rearward

33306878030

Length: 435,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS209
Lateral Arm

Bushing
Rear Outer 33306878030*, 33306878029*

BC-BM-BS210
Lateral Arm

Bushing
Rear Inner 33306878030*, 33306878029*

RODRUNNER REF NO: TC-B-1208 ADAPTABLE BMW

Lateral Arm

Weight: 0,943

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2018- Rear Right
Rearward

33306878030

Length: 435,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS209
Lateral Arm

Bushing
Rear Outer 33306878030*, 33306878029*

BC-BM-BS210
Lateral Arm

Bushing
Rear Inner 33306878030*, 33306878029*

www.rodrunnerparts.com 3



March 2023

RODRUNNER REF NO: TC-B-1209 ADAPTABLE BMW

Lateral Arm

Weight: 0,943

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019- Rear Left
Rearward

33306878029

Length: 435,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS209
Lateral Arm

Bushing
Rear Outer 33306878030*, 33306878029*

BC-BM-BS210
Lateral Arm

Bushing
Rear Inner 33306878030*, 33306878029*

RODRUNNER REF NO: TC-B-1209 ADAPTABLE BMW

Lateral Arm

Weight: 0,943

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2018- Rear Left
Rearward

33306878029

Length: 435,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS209
Lateral Arm

Bushing
Rear Outer 33306878030*, 33306878029*

BC-BM-BS210
Lateral Arm

Bushing
Rear Inner 33306878030*, 33306878029*

www.rodrunnerparts.com 4



March 2023

RODRUNNER REF NO: BC-BM-BS209 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,113

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019- Rear Outer 33306878030*, 33306878029*

Length: 43,8

TC-B-1208 Lateral Arm
Rear Right
Rearward

33306878030

TC-B-1209 Lateral Arm
Rear Left
Rearward

33306878029

RODRUNNER REF NO: BC-BM-BS209 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,113

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2018- Rear Outer 33306878030*, 33306878029*

Length: 43,8

TC-B-1208 Lateral Arm
Rear Right
Rearward

33306878030

TC-B-1209 Lateral Arm
Rear Left
Rearward

33306878029

www.rodrunnerparts.com 5



March 2023

RODRUNNER REF NO: BC-BM-BS210 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,13

X5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G05/G18 2019- Rear Inner 33306878030*, 33306878029*

Length: 49

TC-B-1208 Lateral Arm
Rear Right
Rearward

33306878030

TC-B-1209 Lateral Arm
Rear Left
Rearward

33306878029

RODRUNNER REF NO: BC-BM-BS210 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,13

X7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G07 2018- Rear Inner 33306878030*, 33306878029*

Length: 49

TC-B-1208 Lateral Arm
Rear Right
Rearward

33306878030

TC-B-1209 Lateral Arm
Rear Left
Rearward

33306878029

www.rodrunnerparts.com 6



March 2023

RODRUNNER REF NO: TR-CB-101 ADAPTABLE MAZDA

Tie Rod End

Weight: 0,584

B-SERIE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UF 1985-1998 Front Inner UA0132240

Length: 158 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-CB-102 ADAPTABLE MAZDA

Tie Rod End

Weight: 0,41

B-SERIE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UF 1985-1998 Front Outer UB3932280

Length: 85 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 7



March 2023

RODRUNNER REF NO: TR-CB-102 ADAPTABLE MAZDA

Tie Rod End

Weight: 0,41

B-SERIE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UN 1998-2006 Front Outer UB3932280

Length: 85 Bolt Metric: M12X1,25

RODRUNNER REF NO: BJ-CB-104 ADAPTABLE MAZDA

Ball Joint

Weight: 0,98

B-SERIE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UF 1985-1998 Front Lower -

Length: 96,5 Bolt Metric: M14X1,5

www.rodrunnerparts.com 8



March 2023

RODRUNNER REF NO: BJ-CB-105 ADAPTABLE MAZDA

Ball Joint

Weight: 0,44

B-SERIE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UF 1985-1998 Front Upper UA0134540

Length: 69,2 Bolt Metric: M12X1,25

RODRUNNER REF NO: PA-CB-106 ADAPTABLE MAZDA

Pitman Arm

Weight: 0,89

B-SERIE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UF 1985-1998 Front UA0432220D

Length: 150 Bolt Metric: M12X1,25

www.rodrunnerparts.com 9



March 2023

RODRUNNER REF NO: IA-CB-107 ADAPTABLE MAZDA

Idler Arm

Weight: 1,608

B-SERIE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UF 1985-1998 Front UA0432320D

Length: 150 Bolt Metric: M14X1,5

RODRUNNER REF NO: BJ-CH-1154K ADAPTABLE CHEVROLET

Ball Joint Kit

Weight: 1,4

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT400 1992-1999 Front Lower K6695, 15743845

Length: 121 Bolt Metric: M16X1,5

Moog Type /RWD; Bolt-
On Type

www.rodrunnerparts.com 10



March 2023

RODRUNNER REF NO: BJ-CH-1154K ADAPTABLE CHEVROLET

Ball Joint Kit

Weight: 1,4

SILVERADO 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen,
GMT800

1999-2010 Front Lower K6695, 15743845

Length: 121 Bolt Metric: M16X1,5

Moog Type / RWD; Bolt-
On Type

YEAR ONLY
1999-2000

RODRUNNER REF NO: TC-CH-1228 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 6,638

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

K2YC/G 2015-2021 Front Right
Lower

CMS501185, 23420262, 22994469,
22853474

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

www.rodrunnerparts.com 11



March 2023

RODRUNNER REF NO: TC-CH-1228 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 6,638

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

K2XX 2014-2019 Front Right
Lower

CMS501185, 23420262, 22994469,
22853474

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

RODRUNNER REF NO: TC-CH-1228 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 6,638

TAHOE

MODEL NO BODY YEAR DIRECTION OEM NO

GMTK2UC/G 2015-2021 Front Right
Lower

CMS501185, 23420262, 22994469,
22853474

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

www.rodrunnerparts.com 12



March 2023

RODRUNNER REF NO: TC-CH-1228 ADAPTABLE CADILLAC

Control Arm and Ball Joint

Weight: 6,638

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMTK2XL 2015-2020 Front Right
Lower

CMS501185, 23420262, 22994469,
22853474

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

RODRUNNER REF NO: TC-CH-1228 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 6,638

SIERRA 1500

MODEL NO BODY YEAR DIRECTION OEM NO

K2XX 2014- Front Right
Lower

CMS501185, 23420262, 22994469,
22853474

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

www.rodrunnerparts.com 13



March 2023

RODRUNNER REF NO: TC-CH-1228 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 6,638

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2015-2020 Front Right
Lower

CMS501185, 23420262, 22994469,
22853474

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

RODRUNNER REF NO: TC-CH-1229 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 6,638

SUBURBAN

MODEL NO BODY YEAR DIRECTION OEM NO

K2YC/G 2015-2021 Front Left
Lower

CMS501184, 23420261, 22994468,
22853473

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

www.rodrunnerparts.com 14



March 2023

RODRUNNER REF NO: TC-CH-1229 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 6,638

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

K2XX 2014-2019 Front Left
Lower

CMS501184, 23420261, 22994468,
22853473

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

RODRUNNER REF NO: TC-CH-1229 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 6,638

TAHOE

MODEL NO BODY YEAR DIRECTION OEM NO

GMTK2UC/G 2015-2021 Front Left
Lower

CMS501184, 23420261, 22994468,
22853473

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

www.rodrunnerparts.com 15



March 2023

RODRUNNER REF NO: TC-CH-1229 ADAPTABLE CADILLAC

Control Arm and Ball Joint

Weight: 6,638

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMTK2XL 2015-2020 Front Left
Lower

CMS501184, 23420261, 22994468,
22853473

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

RODRUNNER REF NO: TC-CH-1229 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 6,638

SIERRA 1500

MODEL NO BODY YEAR DIRECTION OEM NO

K2XX 2014- Front Left
Lower

CMS501184, 23420261, 22994468,
22853473

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

www.rodrunnerparts.com 16



March 2023

RODRUNNER REF NO: TC-CH-1229 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 6,638

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2015-2020 Front Left
Lower

CMS501184, 23420261, 22994468,
22853473

Length: 442,5 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1104 Ball Joint Front Lower
CMS501185*, CMS501184*,

23420262*, 23420261*

BC-SB 1029
Control Arm

Bushing
Front Lower

Outer
20869200*, 20869199*, 25997509*

BC-SB 1030
Control Arm

Bushing
Front Lower

Inner
20869200*, 20869199*, 25997509*

Aluminium Type

RODRUNNER REF NO: TR-CH-1291 ADAPTABLE BUICK

Tie Rod End

Weight: 0,669

REGAL

MODEL NO BODY YEAR DIRECTION OEM NO

3rd Gen 1988-1996 Front Inner ES2249RLT, 12471300, 14067619,
26033089

Length: 223 Bolt Metric: 7/16" 20G UNF Housing Metric: 11/16 18G

Moog Type / RWD; with
5/8" x 18 Threads

www.rodrunnerparts.com 17



March 2023

RODRUNNER REF NO: TR-CH-1291 ADAPTABLE CHEVROLET

Tie Rod End

Weight: 0,669

BLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1995-2005 Front Inner ES2249RLT, 12471300, 14067619,
26033089

Length: 223 Bolt Metric: 7/16" 20G UNF Housing Metric: 11/16 18G

Moog Type / RWD; with
5/8" x 18 Threads

RODRUNNER REF NO: TR-CH-1291 ADAPTABLE GMC

Tie Rod End

Weight: 0,669

JIMMY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1995-2001 Front Inner ES2249RLT, 12471300, 14067619,
26033089

Length: 223 Bolt Metric: 7/16" 20G UNF Housing Metric: 11/16 18G

Moog Type / RWD; with
5/8" x 18 Threads

www.rodrunnerparts.com 18



March 2023

RODRUNNER REF NO: TR-DO-1011 ADAPTABLE DODGE

Tie Rod End

Weight: 0,744

RAM 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Outer ES3540, 5017670AA

Length: 99 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

Moog Type / RWD

YEAR ONLY
2000-2001

RODRUNNER REF NO: TR-DO-1011 ADAPTABLE DODGE

Tie Rod End

Weight: 0,744

RAM 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Outer ES3540, 5017670AA

Length: 99 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

Moog Type / RWD

YEAR ONLY
2000-2002

www.rodrunnerparts.com 19



March 2023

RODRUNNER REF NO: TR-DO-1011 ADAPTABLE DODGE

Tie Rod End

Weight: 0,744

RAM 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Outer ES3540, 5017670AA

Length: 99 Bolt Metric: M14X1,5 Housing Metric: M20X1,5

Moog Type / RWD

YEAR ONLY
2000-2002

RODRUNNER REF NO: LS-FO-1546A ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,335

ECOSPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B515 2012- Rear CN1Z5K484A

Length: 150 Bolt Metric: M10X1,5

YEAR ONLY
2017-

www.rodrunnerparts.com 20



March 2023

RODRUNNER REF NO: BJ-H-1074 ADAPTABLE HONDA

Ball Joint

Weight: 0,38

ELEMENT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YH1/2 2003-2011 Front Lower K500382, 51210SCVA90,
51215SCVA90

Length: 88,5 Bolt Metric: M14X1,5

Moog Type / SC Model

YEAR ONLY
2007-2011

RODRUNNER REF NO: TC-H-1188 ADAPTABLE HONDA

Control Arm and Ball Joint

Weight: 6,764

ODYSSEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RL3/4 2005-2010 Front Right
Lower

51350SHJA01

Length: 359 Bolt Metric: M14X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-H-645 Ball Joint Front Lower 51360S3VA10*, 51350S3VA10*

YEAR ONLY
2005-2006

www.rodrunnerparts.com 21



March 2023

RODRUNNER REF NO: TC-H-1189 ADAPTABLE HONDA

Control Arm and Ball Joint

Weight: 6,764

ODYSSEY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RL3/4 2005-2010 Front Left
Lower

51360SHJA01

Length: 359 Bolt Metric: M14X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-H-645 Ball Joint Front Lower 51360S3VA10*, 51350S3VA10*

YEAR ONLY
2005-2006

RODRUNNER REF NO: BJ-HY-1034 ADAPTABLE HYUNDAI

Ball Joint

Weight: 0,602

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front 54530L1000

Length: 74

www.rodrunnerparts.com 22



March 2023

RODRUNNER REF NO: LS-LN-316A ADAPTABLE LINCOLN

Stabilizer Bar Link

Weight: 0,385

CONTINENTAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

9th Gen 1995-2002 Rear Right F5OZ5A486A, F50Y5A486A

Length: 161 Bolt Metric: M10X1,5

Steel Type

RODRUNNER REF NO: LS-LN-317A ADAPTABLE LINCOLN

Stabilizer Bar Link

Weight: 0,385

CONTINENTAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

9th Gen 1995-2002 Rear Left F5OZ5A486B, F50Y5A486B

Length: 161 Bolt Metric: M10X1,5

Steel Type

www.rodrunnerparts.com 23



March 2023

RODRUNNER REF NO: LS-M-1186 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,666

EQE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V295 2022- Front Right 2953231400

Length: 283 Bolt Metric: M12X1,5

RODRUNNER REF NO: LS-M-1187 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,666

EQE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V295 2022- Front Left 2953231300

Length: 283 Bolt Metric: M12X1,5

www.rodrunnerparts.com 24



March 2023

RODRUNNER REF NO: TC-M-1318 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 2,688

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Right
Lower Forward

2063308402

Length: 395,3 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS303
Control Arm

Bushing
Front Lower

Forward
2063308402*, 2063308302*

4matic

RODRUNNER REF NO: TC-M-1319 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 2,688

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Left
Lower Forward

2063308302

Length: 395,3 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS303
Control Arm

Bushing
Front Lower

Forward
2063308402*, 2063308302*

4matic

www.rodrunnerparts.com 25



March 2023

RODRUNNER REF NO: TC-M-1338 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 2,449

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Right
Lower Forward

2063308202

Length: 412,1 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS303
Control Arm

Bushing
Front Lower

Forward
2063308402*, 2063308302*

4x2

RODRUNNER REF NO: TC-M-1339 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 2,449

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Left
Lower Forward

2063308102

Length: 412,1 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS303
Control Arm

Bushing
Front Lower

Forward
2063308402*, 2063308302*

4x2

www.rodrunnerparts.com 26



March 2023

RODRUNNER REF NO: BC-ME-BS303 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,374

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W206 2021- Front Lower
Forward

2063308402*, 2063308302*

Length: 80

TC-M-1318
Control Arm

and Ball Joint
Front Right

Lower Forward
2063308402

TC-M-1319
Control Arm

and Ball Joint
Front Left

Lower Forward
2063308302

TC-M-1338
Control Arm

and Ball Joint
Front Right

Lower Forward
2063308202

TC-M-1339
Control Arm

and Ball Joint
Front Left

Lower Forward
2063308102

www.rodrunnerparts.com 27



March 2023

RODRUNNER REF NO: LS-PO-526 ADAPTABLE PORSCHE

Stabilizer Bar Link

Weight: 0,197

MACAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

95B 2014- Rear 95B505465

Length: 60

RODRUNNER REF NO: TC-SU-738 ADAPTABLE SUBARU

Control Arm and Ball Joint

Weight: 5,131

LEGACY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BN/BS 2015-2020 Front Right 20202AL001

Length: 372 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-SU-415 Ball Joint Front Lower 20202AJ05A*, 20202AJ04A*

BC-SU-BS045
Control Arm

Bushing
Front Inner 20202AL001*, 20202AL011*

BC-SU-BS043
Control Arm

Bushing
Front Right

Outer
20202AL001*, 20202AL011*

www.rodrunnerparts.com 28



March 2023

RODRUNNER REF NO: TC-SU-738 ADAPTABLE SUBARU

Control Arm and Ball Joint

Weight: 5,131

OUTBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BS 2015-2019 Front Right 20202AL001

Length: 372 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-SU-415 Ball Joint Front Lower 20202AJ05A*, 20202AJ04A*

BC-SU-BS045
Control Arm

Bushing
Front Inner 20202AL001*, 20202AL011*

BC-SU-BS043
Control Arm

Bushing
Front Right

Outer
20202AL001*, 20202AL011*

RODRUNNER REF NO: TC-SU-738S ADAPTABLE SUBARU

Control Arm

Weight: 4,874

LEGACY

MODEL NO BODY YEAR DIRECTION OEM NO

BN/BS 2015-2020 Front Right 20202AL001

Length: 372

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SU-BS045
Control Arm

Bushing
Front Inner 20202AL001*, 20202AL011*

BC-SU-BS043
Control Arm

Bushing
Front Right

Outer
20202AL001*, 20202AL011*

www.rodrunnerparts.com 29



March 2023

RODRUNNER REF NO: TC-SU-738S ADAPTABLE SUBARU

Control Arm

Weight: 4,874

OUTBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BS 2015-2019 Front Right 20202AL001

Length: 372

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SU-BS045
Control Arm

Bushing
Front Inner 20202AL001*, 20202AL011*

BC-SU-BS043
Control Arm

Bushing
Front Right

Outer
20202AL001*, 20202AL011*

RODRUNNER REF NO: TC-SU-739 ADAPTABLE SUBARU

Control Arm and Ball Joint

Weight: 5,131

LEGACY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BN/BS 2015-2020 Front Left 20202AL011

Length: 372 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-SU-415 Ball Joint Front Lower 20202AJ05A*, 20202AJ04A*

BC-SU-BS045
Control Arm

Bushing
Front Inner 20202AL001*, 20202AL011*

BC-SU-BS044
Control Arm

Bushing
Front Left

Outer
20202AL001*, 20202AL011*

www.rodrunnerparts.com 30



March 2023

RODRUNNER REF NO: TC-SU-739 ADAPTABLE SUBARU

Control Arm and Ball Joint

Weight: 5,131

OUTBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BS 2015-2019 Front Left 20202AL011

Length: 372 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-SU-415 Ball Joint Front Lower 20202AJ05A*, 20202AJ04A*

BC-SU-BS045
Control Arm

Bushing
Front Inner 20202AL001*, 20202AL011*

BC-SU-BS044
Control Arm

Bushing
Front Left

Outer
20202AL001*, 20202AL011*

RODRUNNER REF NO: TC-SU-739S ADAPTABLE SUBARU

Control Arm

Weight: 4,874

LEGACY

MODEL NO BODY YEAR DIRECTION OEM NO

BN/BS 2015-2020 Front Left 20202AL011

Length: 372

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SU-BS045
Control Arm

Bushing
Front Inner 20202AL001*, 20202AL011*

BC-SU-BS044
Control Arm

Bushing
Front Left

Outer
20202AL001*, 20202AL011*

www.rodrunnerparts.com 31



March 2023

RODRUNNER REF NO: TC-SU-739S ADAPTABLE SUBARU

Control Arm

Weight: 4,874

OUTBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BS 2015-2019 Front Left 20202AL011

Length: 372

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SU-BS045
Control Arm

Bushing
Front Inner 20202AL001*, 20202AL011*

BC-SU-BS044
Control Arm

Bushing
Front Left

Outer
20202AL001*, 20202AL011*

RODRUNNER REF NO: BC-SU-BS043 ADAPTABLE SUBARU

Control Arm Bushing

Weight: 0,828

LEGACY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BN/BS 2015-2020 Front Right
Outer

20202AL001*, 20202AL011*

Length: 121,8

TC-SU-738
Control Arm

and Ball Joint
Front Right 20202AL001

TC-SU-738S Control Arm Front Right 20202AL001

www.rodrunnerparts.com 32



March 2023

RODRUNNER REF NO: BC-SU-BS043 ADAPTABLE SUBARU

Control Arm Bushing

Weight: 0,828

OUTBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BS 2015-2019 Front Right
Outer

20202AL001*, 20202AL011*

Length: 121,8

TC-SU-738
Control Arm

and Ball Joint
Front Right 20202AL001

TC-SU-738S Control Arm Front Right 20202AL001

RODRUNNER REF NO: BC-SU-BS044 ADAPTABLE SUBARU

Control Arm Bushing

Weight: 0,828

LEGACY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BN/BS 2015-2020 Front Left
Outer

20202AL001*, 20202AL011*

Length: 121,8

TC-SU-739
Control Arm

and Ball Joint
Front Left 20202AL011

TC-SU-739S Control Arm Front Left 20202AL011

www.rodrunnerparts.com 33



March 2023

RODRUNNER REF NO: BC-SU-BS044 ADAPTABLE SUBARU

Control Arm Bushing

Weight: 0,828

OUTBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BS 2015-2019 Front Left
Outer

20202AL001*, 20202AL011*

Length: 121,8

TC-SU-739
Control Arm

and Ball Joint
Front Left 20202AL011

TC-SU-739S Control Arm Front Left 20202AL011

www.rodrunnerparts.com 34



March 2023

RODRUNNER REF NO: BC-SU-BS045 ADAPTABLE SUBARU

Control Arm Bushing

Weight: 0,243

LEGACY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BN/BS 2015-2020 Front Inner 20202AL001*, 20202AL011*

Length: 57

TC-SU-738
Control Arm

and Ball Joint
Front Right 20202AL001

TC-SU-738S Control Arm Front Right 20202AL001

TC-SU-739
Control Arm

and Ball Joint
Front Left 20202AL011

TC-SU-739S Control Arm Front Left 20202AL011

www.rodrunnerparts.com 35



March 2023

RODRUNNER REF NO: BC-SU-BS045 ADAPTABLE SUBARU

Control Arm Bushing

Weight: 0,243

OUTBACK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BS 2015-2019 Front Inner 20202AL001*, 20202AL011*

Length: 57

TC-SU-738
Control Arm

and Ball Joint
Front Right 20202AL001

TC-SU-738S Control Arm Front Right 20202AL001

TC-SU-739
Control Arm

and Ball Joint
Front Left 20202AL011

TC-SU-739S Control Arm Front Left 20202AL011

www.rodrunnerparts.com 36



March 2023

RODRUNNER REF NO: TC-VO-958 ADAPTABLE VOLVO

Lateral Arm

Weight: 0,588

XC40

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2018- Rear Lower 32221140

Length: 291

www.rodrunnerparts.com 37


